
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

slimSTAND assembly artwork 

To have the goose neck head be past 

through the holder head. Then put 2 

screw washer and fix by M8 screw 

hat well. Finally, cover the holder 

neck.  

To pass through the goose neck by 

the other side to the stand hold.  

Then put the screw washer and 

fix by M8 screw well. Finally, 

cover the metal base and fix by 

M2.6X8 screw by 4pcs. 

( Metal base )  

(Completed view) 

 

 

Goose neck head 

Goose Neck 

 

Holder head 

Stand 

Screw washerx2 

M8 screw hatx2 

Holder neck 

Metal plate 

M2.6x screwx4 

Heavy metal piecex4 
Screw x1 

Foot x4 


